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1. BC AB  

AC 

BCA AC. 
 

     

18  12  72  82  78  

 
2. 10x = 0,1. 
 

     

1 1 9,9 0 0,01 

 
3.  SABC 

ABC M  AB
SCM.  

 

 SB 
 AM 
 BC 
 SA  
 SC 

 
4. 40x3  15x = 
 

 5x(35x2  10x) 
 25x2 
 5x3(8  3x) 
 5x(8x2  5)  
 5x(8x2  3) 

 

A 

B 

C 

162  

? 

C B 

A 

S 
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5.

 
 

 . 
 

 
 

     

15 20 25 30 35 

 
6.  000 

  
 

     

8500  45 000  2500  85 000  42 500  

 
7.  
 
 

     

486  243  324  162  972  

 
8.  
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9. y = f (x), 
3;

y =  f (x)?  
 

 I I  
 I IV 
 I  I  
 I  IV  
  

 
10. 9

2 6
x
x

 = 

 

     

3
2
x  1,5 

2
3x

 3
2
x  

2
3x

 

 
11. 1

2

log 8 . 

 

     

( ; 5] ( 5; 0] (0; 1] (1; 5] (5; + ) 

 
12. AD BC 

ABCD K M 
KMCD 

ABCD, 
AK : KD = 1 : 2, KC = d, CKD = .  

 
 

     

          

 
13. [ 10; 10], 

 x  2   7. 
 

     

13 12 6 7 15 

 

A 

B 

D K 
 

d 

 M 
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14. f (x) = ex + 2?
 

 F(x) = ex + 2x  3 
 F(x) = ex + 1 
 F(x) = 2x  

 F(x) = xex  1 + 2x + 3 

 F(x) = xex  1 
 

15.    

2 = 3,

1 = 9.

y
x

y
x

  (x0; y0)     x0 + y0 =  

 

     

4,5 2 6 3,5 7,5 
 

 

 

 
 

16.  
, a = 2. 

 

 
 
 

 

1  a  

2 a0 

3 tg ( a) 
 
 

 

 K 

 L 

 M 

 N 

 P 
 

17.  (1 3)  
 

 

 

1 y = x  
2 y = 3x   
3 (x + 3)2 + y2 = 4 

 
 
 
 

 

 x.  

 y. 

 y = x  4. 

 y = 4. 

 y = 2. 

 

      
1      
2      
3      

      
1      
2      
3      

K L M N P 

0 1 1 2 2 
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18. ABCD 
O1

O2,  
AB, BC AD. BC = 30 . 

 (1     
 .  

 
 

1 AB  

2  
ABCD  

3 O1O2  
 
 

 

 7 . 

 9 . 

 12 . 

 16 . 

 17 . 

 

 . 
 

19.    f (x) = (7x + 5)(3 cos x  1) x0 = 0. 
 

 
 
20. ABCDA1B1C1D1

ABCD K(6; 6; 4), M( 4; 4; 9)  
CC1.   

 

 
 
21.            300 ,   

  
  

 

 
 

22.  a 4; 10), 

 x + a log2 x + 4a  16 = 0  
 . 

 

 

      
1      
2      
3      

A D 

B C 

O2 O1 

30  
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1  

2  

3  

4  

5  

6  

7  

8  

9  

10  

11  

12  

13  

14  

15  

16 1 ; 2  

17 1 ; 2 ; 3  

18 1 ; 2 ; 3  

19 14 

20 1800 

21 360 

22 8 

 
 
 
 


